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i:rft�il,� �/Instructions to the Candidates 

· 1. i:ro l!!I -mi, tRt�, 1ffewr il> "" if i 1 '1"111 tRt� <pf � � ,rm tr{ wm
The question paper is in the form of test booklet. All candidates will be assessed on identical questions. 

2. OMR 'lfic1R�'ITT "lR'l!l'f' �1.0MR'lfic1R No\ 3/R "f<Ri3uU<ITT�'lR'\i\,f<li(���<!>Wf (qi@] 'IT
;fun) if w\ fe@' I
Read the instructions on the OMR sheet carefully. Use only Ball Point Pen (Black or Blue) for writing/ shading/ bubble on OMR
sheet and marking your answers.

3. ffl il, f<ii(, s!'1t � 'ITT q,[iR � i\, 1(<P "!WT OMR '3'tR 'Ifie f?.'lT 1ifl1!11[1 OMR 'Ifie i\, s<f q,[iR � 'ITT f.rtll\!<P
ID<! "!WT�tR\&ll'lf <ITT$lluJT1VTTI
A separate OMR answer sheet with carbon impression is provided to all the candidates for answering. On completion of the
test t�ar the OMR Answer sheet along the perforation mark at the top and handover the original OMR answer sheet to the 
invigilator _and retain this duplicate copy with you. 

4. a f<l�q4<<1i l!!I il,f<li( f<l'l'l "fR,rqr uTtIT Ill� m' 'foi'i!a-r.R � (a), (b), (c) '3itt (d) i\, "1'I � ��I ;r-Ji'f if
� 1(<P slt t1wt wm 
Each objective question is provided with a text and/or figures wherever applicable with multiple answer choices (a), (b}, (c) 
and {d). Only one of them is correct. · 

5. W � l!<!>f< i\, l!!fl i\, 'WlR 3f<I> '(WT I tlw\-r.R i\, f<ii( $r ajq,, -r.R '! t\ 1R � 3/R TJffil -r.R i\, f<ii( 1(<P ajq, '<1iRT "'11('lf I
mfi l!!I il,f<li( 'i!a -r.R � TJffil'3'<RTJAJ �I 
All objective type questions carry equal marks of THREE for a correct answer, ZERO for no answer and MINUS ONE for wrong
answer. Multiple answers for a question will be regarded as a wrong answer. 

6. l!l! � $1 � ail{ '3,1:[{ il, f<AR 1R A 'IT B 'IT C 'IT D - f<l>'lT lJ'lT t f-;iir OMR 'Ifie 1R, � '11 o!<ffl Tf fffisRr
3ff.tqJ,:f WI � '! ffl tr{, =-�<pf ��f<l;'l] �I 
Question booklets have been marked with �or.§. or.£ or Q. on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not be evaluated. 

7. 1jR<f<li1 Tf � WlW 'ITT -il, Jj¥JR 'iin'\ q,Jl'f il,f<li( ;,qtj),r f<l>'ll\iff 'ijq,<1] WI 3fWf if 'Ifie �!?.'IT 1ifl1!11f I
· Space available in the booklet could be used for rough work, if required. No separate sheet will be provided.

a. � 'Ifie 1R o«ll& 'lR'\ if wit, tRt&ll'lf ,m � 'Ifie 1R 1ffewr 'iTT6 fffisRr o1'111 TRI� ,ii\ "f<R '!Pl t WR�
�af<ffl'(WTI
Before signing the attendance sheet, the candidate should write the Booklet Code in the attendance sheet. Candidates should
sign against THEIR names only. 

9. tRt�il>arail' c1) Wc'.T��tRt&rrffl°iITT cz> 'l'fOMR-r.R'lilc"IR(3J l!!lmr, f.rtll\!<P<ITT<ll'R!<R'UWI M
Ill� il' ;lit tRt&ll'lf lITTT "i11tR � 'ii w,,i � I
At the end of the test (1) Written test Call Letters(s) with photograph pasted on It (2) Original OMR Answer Sheet and
(3) Question Paper shall be returned to the Invigilator and shall not be carried by the candidate under any
circumstances.
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Question Booklet Series - A 

Questions: 

1. ift<ft � � F1 JfR F2i\?'-.ft:q� mir �Rm� ei\5' cITTOT %, ill q�u114l
� --------%
If two force vectors F1 & F2 with the angle between them 9 acting on a body
simultaneously, then the resultant force is __________

(a) [F/ +F/-2F1F2cos(9)l
2 2 , ½ (c) [F1 +F2 -2F1F2sm(9)J 

(b) [F/ +F/+2F1F2cos(9)l
2 2 ½ (d) [F1 +F2 +2F1F2sin(0)]

$ ']fci:llcf>I\JUI � qft � ___________ 'lfJlT $ .:f&f 

The Centre of Gravity of an equilateral triangle of side x lies at a height _______ measured on 
a median from any side. 

X 

. (a) (b) (c) z,/3 (d) 3

3. - - - - - - - - - - - - � cf5T M q�i:@C: qft � � q§j Plf?wlJcil $ &fUf \iIT
� � � ful:rR * � i\5' mv:r.:r � 1JilB � '3fWf % ctt 1TURT 'PR i\5' fuc;
WWT fclx:rr_ ufTc1T % I
The ____________ theorem is used to calculate the moment of inertia of any section about the
axis which is different from the axis passing through the centroid in the same plane.

(a) wfu 3/&r ftli:R'i:r / Cross axis theorem
(b) t=fllR 3/&r ftli:R'i:r / Equal axis theorem
(c) �'1IT J-fl'if -� / Perpendicular axis theorem
( d) '8l.JHici,t Jfl'if � / Parallel axis theorem

4. um� � � K>l'tlcf> I wffi � A, � L, JfR <irr A l§lci'tl, E, cFFf � P $ J{'i.)t;r
w. illm-ctt�*� '84lcf>,t□1 ffRTmu!Tc1T% --------
When a circular rod of uniform cross section A, Length L, and material young's modulus
E, subjected to tensile force of P, then increase in the length of the rod is given by the 
equation __ 

(a) PUAE

5. <ifcA � J-fR'@ * �-lR9cffi{ � "cf,"T � cITT"c1T W
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The point of contra-flexure in a bending moment diagram represents __________ _ 

(a) � � � / Maximum bending moment
(b) "l•idl-J � � / Minimum bending moment
(c) "i'idl-J 0-jq,t,qo1 � / Minimum shear force
(d) � � it -@Rf cp[ islC:cilcl / Change of sign in the bending moment

6. fqg it -BQR) tl g,-er � \3iulT I � 'l-fR @-@ � -mJ.JT ip- � "cifll fc!>ilT
iJfRlT %1 '8J..J1cf>�UI -------------- � m iJfRlT %
The total strain energy stored in the body when the load is gradually applied with in the
elastic limit is given by the equation -----·--

(a) oV/2E (b) ,lV/2E (c) o3 V/2E 

Where, u = stress, V= Total volume & E=Young's modulus 

7. X cfiT "I-JR lIBf � 1 � A�cm [� 

Find the value of x, if the given matrix 
[� 

(a) 4 (b) - 4

8. :i ��tjtj cl5T1mtit•1

Express � radians in degrees.

(a) -15 (b) 30

9. i2C4 ip- � cpf lIBf WTTt'!;

Find the value of combination 12C4

(a) 459 (b) 455

2 
X 

2 
X 

1
5
0] 

-2

:o] 
-2 

�']ff/. % 

is singular 

1 
(c) 4

(c) -30

(c) 495

(d) cr4 V/2E

1 
(d) --

4 

(d) 15

(d) 485

10. Glcp1□1 �'tlcti1 "c:1 �� 3i + 4j 3fR si + 7j + k � � q5x m �, ip­
� cfiT lIB[ �
Find the area of triangle whose two sides are represented by the vectors 3i+4j and
5i+7j+k is
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,/26 
(a) -2 (b) Ju (c) 13

-ITT 
(d)-2 

11. � � AB i!f, 1=[&[ �cf>I Plifl<licfi (14, 4) %1 Jf1R A "cfiT Plifl<licb ( -4,
22) % ell B i?f> Pl<l!!iicfj "cfiT 1:@T �
Co ordinates of midpoint of a line AB is (14, 4). If co-ordinate of A is (-4,-22) then find

the co ordinates of B 
(a) (24,-16) (b) (32, 30) (c) (-32,-30) (d) (32,-30)

12. [Sin (150°) Cos (300°)] + [Sin (210°) Cos (240°)] i¼, � "cfiT 1:@T wll"lt

Find the value of [Sin (150°) Cos (300°)] + [Sin (210°) Cos (240°)]

(a) 2 (b) �
2 

(c) -2

. dy 
13. � y= (x+2)(x-l)(x+3) %, ell - "cfiT 1:!illwll"lt

dx 
dy 

y= (x+2)(x-l)(x+3), find -
dx 

(b) 3x2+8x-1 (c)2x2+4x-6

(d) -12

( d) 3x2+8x+ 1

14. �y= e3x 
+ e-sx ci't d2y/dx 2 atx=0 i!f,�"cfiTL@Twll"lt

If y= e3x 
+ e-sx find the value of d2y/dx2 at x=0

(a) 8 (b) 34 (c) -16

15. cf>Rc 3fll:!B <ITT �1JU!Wf t iNlcITT '3ttf

(d) 16

The unique property of cast iron is its high

(a) J-ff'c!Rf qrr@T / malleability
(c) ci'cilciiq.--J / ductility

(b) Wt? qRccpa / surface finish
( d) irJ / brittle

16. � � � � "#, "1of � � Tffc'r � %, ell
In a belt drive system, when the speed of belt increases,

(a)��� i!f, � � <JUITil?� uJ@T %
Co-efficient of friction between the belt and pulley increases

(b) � � � i!f, � � 1JUTicfi tfc: uJIBT %
Co-efficient of friction between the belt and pulley decreases
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(c) 1HJ1f.l.a � -q<ITTft milt
power transmitted will decrease

(d) IH·llf.l.ci � -q � milt
power transmitted will increase

In a pulley and belt drive, if mis mass of belt per unit length and Tis the belt tension th en 

the velocity of belt for maximum power transmission is equal to 

(a) $; (b) � (c) � (d) /T 
✓�

1 s. � ifG ci1lRf D cpl� fi'n:rrif ?ja" T � * % J..il.siJs1 m __

l]t[T % 
A spur gear with pitch circle diameter D has number of teeth T. The module mis defined 

as 
D T(a) m= 
T

(b) m= 75

19. QRR.15c&H <IJ1q�,1 �
Antifriction bearings are

nD 
(c)m = -

T 

(a)� Ricf?.-11{ oljq�, I / thin lubricated bearings
(b) $1��1.slq�fAcRI <IJ1q�•I / hydrodynamic bearing

· (c) $1{91«'.Rcf? <IJ1q�, I / hydrostatic bearings
(d) 11c;· 3fR ftffi" oljq�, I/ ball and roller bearings

20. � m cpl 3fWT --* qf.l.c1J.-J %1
The impulse of a body is rate of change of its .... 

(d) m =nDT

(a)�/ Force ( b) ccRDT / Acceleration 
(c) � / Momentum ( d) � / Displacement 

21. � � fct.s" � � cf? I fo I{ �,3ff � �i.f cTT �, ftj q .ft a 1<ci -81--iHi dx •f�f fil,qr
cRa�, aT�- Tff&rcRa�
When two equal, opposite and parallel forces with different lines of action act on a body, they

constitute a .... 
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(b) 1JlR'f / Couple(a) �/Moment

(c) �/Inertia (d) -34�lcfd -i{�Cffl{� /None of the above

22 . "1cf s(olll-l H m cp1 � 'frg � � � � R � � 1R ro cf>l OJ1q WT� mtr � 
cITTdT % , ill m IDxT 3/"jiwra � �--ma-r % 
When a body of mass m is rotating with an angular velocity ro at a distance R from the 

centre of rotation, the radial acceleration experienced by the body is .... 

(b) co R (c)m/R (d) Rim

23. � � � B, � � � 1R (FjTcf T1 "ITTill %, � mts° 1R (FjTcf T2
ma-r % l(C[ v � cp1 WT ma-r % , ill !,H-11f.rn "><rfc@__ %
In a belt drive system, if TI is the tension on the tight side, T 2 is the tension on the slack

side and Vis the velocity of the belt, the power transmitted is .... 

(b)(T1-T2) V 

24. "4T& Tf<fR cf.,J 0cm_:{O1 % ---

The Porter governor is an example of .... 

(a) �Tf<fR / Inertia governor
(c) 014¢� •'JcFk / Centrifugal governor

(b) �l�ci TfCfR / Flywheel governor 
( d) ��cm{�/ None of these

25 . c'R"ei' cp1 lJOT� \ill Ji 4xi 4 01 mll:f � J.f1:AT an=@'[�% (pl __ � t
The property of a fluid that expresses its ability to resist shear is called 

(a)�/ viscosity
(c) dcl<:llcli:fidl / buoyancy

(b) � i'Afcl / surface tension
(d) �qj,SiliJI / compressibility

26 . M kgf 1--fRcl@ ffi' 'qjT m � f.'ll-!liiH fcl;trr \iITill �(TT% N kgfil> m 'qjT � 9'«IT � I 
m cITT Jfl'l-fmt '1-{R __ % 

A body of weight M kgf is immersed.in a fluid and displaces N kgf of fluid. 
The apparent weight of the body is 

(a) M+N Kgf (b)NKgf (c)M-N Kgf ( d) none of these
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An incompressible liquid flows steadily through a pipe of varying cross-section 
from A1 to A2 . Given: A1/A2 = 0.5, V1 at A1 = 2 mis. Value ofV2 at A2 is 

(a) 4 mis (b) 1 mis (c) 0.25 mis (d) 3 mis

28 . f.11;1 RIR11 d i'f "B c#t;:r m f.'l<TTi ?;qiHRla �IR� mar W 
Which one of the following laws is applicable to a hydraulic lift? 

(a) Fcl-,,tiil45 c:flt �/Kirchhoff's law
(c) ,3-!xFcl-,fA$) qi"J �;&ia / Archimede's principle

(b) Yl./ilcf5ci cpl�/ Pascal's law 
(d) � f.1<:n:r / Newton law

29. � tf5tITT° Tiuf l-l l:cl1cf5-tDI i?p � "Ql:ITTf fcp[rr \Jl@T W 
---

A Feeler Gauge is used for quantifying 

(a) � �,tc;,t1q.:1 / surface Roughness
(c)� / gap

(b) � / radius
( d) � fqi;r / screw Pitch

The symbol for Cylindricity is 

(a) 0 (b) + (c) J/ (d) @

31. � fqg i?t, q I -&-1 fc1 cf5 � � � � � Jf e.f i?t, � � � cBT . �i 
. --

The maximum difference between the actual physical centre of a body and its axis of 
rotation is called 

(a) Jfafi<:r B Jf8c / Axial run out
(c) <liaj�{§□I / Misalignment

(b) � B Jf8c / Radial run out
(d)"./ilq□T / Slip 

32, �1'6�&{.\!Hciw*, ±30-Yxl./il-1<ITT'31'4W 
In a Normal distribution curve, ± 3o- range means 

(a) 99.74% (b) 97.94% (c) 95.46% (d) 68.26%

In a stress - strain of a material, Hooke's Law is valid up to 
( a) IRf'l-(q � / Yield point (b) �"$:Jr/ Elastic limit
(c) Q.11�cf5 $:IT/ Plastic limit (d) iJi1Rt IRf'l-(q �/Upper yield point

34 . � � � � � M � � � T "B � mar w, ill ./ill-lg<."-! � 

�. i?t,�mar% 
Page7 of14 



Question Booklet Series - A 

When a shaft _is subjected to a bending moment Mand a twisting moment T, then the 

equivalent twisting moment is equal to 

(a) M + T (b) AfZ + yz 

35. �a� q,luT '3ffi' q> ffl � q,luf cm�%, ill� cflt c:-l\1CTT __
IDxrm�t
If a denotes the lead angle and q> denotes the angle of friction, then the efficiency of the 

screw is• given by 
tan(a- ¢) tan a 

(a) tan a · (b) tan(a- ¢) 

Force Fin the given figure equals to 

tan(a + ¢) 
(c) tana

lkN lkN 

F 

(a) ../3 kN (b) 2 kN (c) -v'J kN
3 7. f.'!i:n:::! uI) a 14 l-l H � 1=!ltF! � Jff� cm oFf@T t . 

The law that forms the basis of measurement of temperature is 
(a) '3,ISl-llqfc1fcl, cf)T Oth �

o
th law of Thermodynamics 

(b) '3,1Sl-!111Rifcl, cfJT 1st �
1 st law of thermodynamics 

(c) '3,ISl-jJllfc1fcl5 cfJT 2nd �
2nd Jaw of thermodynamics

( d) Kirchhoff's <ITT f.'l<TTT
Kirchhoff's law

38. ��<ITT rw,:T 1JOT'<m cW t \iIT
Intensive Property of a system is the one that

(a) s'id..lAH 'CR� ;:im<ITTm % /Does not depend on mass
(b) s'id..ll-lH 'CR� cITTcIT t I Depends on mass
( c) qZj° 'CR f.:rik cITT'aT t I Depends on path followed

tan a
(d) tan(a+ ¢) 

(d) 3v3 kN

( d) s'iol.J'.AH 1fcf qZj° 'CR f.'rik cITTcIT t I Depends on mass and on path followed

39.1l-����'3f¥!R, ��cl5Ffm��t 
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As per Gay Lussac 's law, which one is the correct statement 

PT
= Pressure at temperature T ° C; Po = Pressure at temperature 0° C

T 
(a) PT

= P0 (1 +-) · 273 

(c)PT
= Po(273+T) 

(b) 

(d) 

1 

PT = Po (;r + 273)

PT
= Po (T+ I) 

The process in which no heat transfer takes place across the boundaries is called as 

(a) �f6q1¾Rcti l-!fsl5lll / adiabatic process
(b) �l�x:nct?l�cfi ·� / isochoric process
(c) {il-kll411-!Rl5lli / isothermal process
(d) �1�'8'1�lfL1cfi � / isentropic process

The saturation temperature of water with increase in pressure increases 

(a)cl.lcwl-l / inversely
(b) �@-@-�����/slowly first and then rapidly
( c) � � � � � @.@- � / rapidly first and then slowly
(d) ��/linearly

42. 13-, 111--11 • 1 RI ct?l $' � f.l1:n:r '$ fair�r� or:iR %
Correct statement for First law of thermodynamics

( a) � � 3fR=I -m�rcp't � � f.:ITTR oRt � %
Total energy of system and surroundings remains constant

(b) � &RT fcln:rr TflJTcfiN � &RT JffiffiF31N-ff cl?'t i\l{I cil:tl cITTcTT %
Work done by the system equals to heat transferred by the system

(c)miPlll$�1«P�cfiT��f.rtRoFft�%
Internal energy of a system remains constant during a process

(d) i;rfci;1:rr$��'cfiTl@1fif.rtR��%
Entropy of a system remains constant during a process.

43. � 'clw q?'t �e.fill J.flit 'clw $ � ulIBT % ulof
The efficiency of diesel cycle approaches to Otto cycle efficiency when
(a) qjc.3IT[f) '3f:'JQKPip:1% /Cut off ratio is zero
(b) qjc. 3fi1:p � � ulIBT % / Cut off ratio is increased
(c) qjc-3IT[f) �t!cullc1l% /Cut off ratio is decreased
( d) qjc-3IT[f) � W'lft $�mill%/ Cut of ratio is equal to unity
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A jet engine works on the principle of conservation of 

(a) i3,ulf / Energy (b) S::olll-JH / mass
(c) ct,")ufll..J ·� /angular momentum (d) � � / linear momentum

45. �f.r:n:r$ �, cplq-���i
As per Boyle's law, which one is the correct statement?

(a)Pa(l/V) . (b)PaV (c)Ta (1/V) (d)TaV

"fITT p, V q T WJ=l1<T: 1TTfilT m&r=r cpf ?JG[, -3{TtRR � � a I q l-1 H � I . 
Where P, V & Tare respectively pressure, volume and temperature of gaseous medium. 

46 . .J,ISI-J1l\ 'clli:1¢cil cf5T n&:r � 
';,/'IL. _ Q 

Unit of thermal conductivity is 

(a) J/m/s (b) W/m2 K (c)W/mK (d) J/°C

47. ��� 8H-l¢1 �cp]c &f;TO.lm2 JfR�0.02 m %cfiT��i'i f.-il;lRIR9a

g_clf:p-{H gm -;,rq cfiT 1IBTT �Hiaf-ta � uJTaT %
The amount of heat transferred under steady state across a slab of cross section area 0.1 m2

and thickness of 0.02 m with following assumptions

Material conductivity: 150 W/mK; Temperature gradient 20 °C is 
(a) 2kW (b)6kW (c)3kW ( d) 15kW

48. ajtll;s¢ � � $ '34,(ia � ajtif.-1::1 i{� ffi �1l'l !.!l<lla¢ ·q;t � __ %
Condition of refrigerant after leaving the compressor and before entering condenser is

(a) Jffi1 rn:f cfT&r /Superheated vapour
( c) � �)3j1Jf / Saturated mixture

(b) �a«, I Saturated liquid
(d) �cfT&r / Saturated Vapour

49. � $ cgf'xl..J,( f.r:n:r $ � � � # �, cp7q m � %
As per Fourier law of heat conduction in one dimension, which is correct

( K: .J,ISl-J]l..J i:llcicf>cil /Thermal conductivity , A: i'P'ffi J.f:!'l-fllT cf5T &RI Area of cross 
section, T: cilQl-JH/Temperature x:��cfiT�$m�-��,(-ll-J.ql..j 
co,ordinate along the direction of heat flow ) 

(a ) -KAdT/dx (b) KAdT/dx (c)-KAdx/dT (d)KA dx/dT
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50, CANDU m�tWfl\JJ�Qcfc�T A', q;');=nrr�% 
In a CANDU type of Nuclear reactors, which is true? 

(a) !,11<p Rlcr, ,t{f.14A � � � # �� A Y� c:, if'� # 1:!At ¢l m fcr4r i,[@f %
Natural Uranium is used as fuel and water as moderator

(b) >ilcpfctcr, ,Bf.14l-\ � �� B �� l-\1-s'{c:, if'� B 1--fRT 1:fRt ¢l J:f41TT fcr4r i,[@f %
Natural Uranium is used as fuel and heavy water as moderator

( C) �d <J'.{f.'14l-\ °{'cff � � B � 1-11'5'{ C:{ tj, � B 1:fFlt ¢l ffl fcr4T i,[@f %
Enriched Uranium is used as fuel and water as moderator

( d) �d <J'.{f.14l-\ °{'cff � � B � l-\fa'{c:, ¢- � B 1--fRT 1:fFlt '¢"T J:f41TT fcr4r i,[@f %
Enriched Uranium is used as fuel and heavy water as moderator

51. f.TTI �if,�, � exist l�'l <l> l ffl fcr4r i,[@f %
For low heads only, these turbines are used

(a) cfilqcil'l cxisil�'l / Kaplan turbine
· (c) �'GSP I Pelton wheels

(b) � c:,isili:l'l / Francis turbine
(dJ -%�41\il c:,isil�'l / Deriaz turbines

52. -- (LVDT) cf5T W1llT ii,� B fclx:rr "1TcTT t
Linear variable differential transformer (LVDT) used for measuring ________ 

(a) WT I Velocity
(c) �/Displacement

53. CNC 1-!lllll-H �<ITTR G33 ffl'¢"T�%

(b) ccRUT / Acceleration
( d) "W1<T / Time

The purpose of G33 code during CNC programming

(a) '\J:4wf ffl/Zero preset (b)��#fcl1-!T/ Dimensioning in metric units

( c) � "cf5cf.-r/Thread cutting ( d) cfR-f/Dwell

/ The carbon present in Cast irons may occur in the chemically combined form known as 

(a) ll>{1$C: / Ferrite
( c) ft! ik I$ C: / Cementite

(b) fi'lll{ci1$C: / Pearlite
(d) Rc-Sl$C: / Steadite

The Shop in which castings are cleaned is called ................... . 

(a)� m]q/Machine shop 
(c)ll>c:R'i11 ;ffiq/ Fettling shop

(b) cl<t>la111Q/Workshop 
(d) q,1J,41 �/Foundry shop
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56. R1:1tsfo11$1lTil '34<fH.UI cm��� d4cfixDTI 4X ci) '34cioicl mT"IRTT% /
---

In order to prevent tool from rubbing the work on tools are provided. 

(a) �cpT[JT/rake angles
(c) tR'J_c cpT[JT/Flute angle

(b) �cpT[JT/relief angles
(d) WcpTUT/start angle

s7. RflRIRs!a lBlwr 1WR * il-, � � tclfcici i5!:!cR'l-/l d4cioicl <:"fRR � 13>'1clT'cR" � *
� ci) �cfi Ill I "1ffiT % 
In which of the following milling machine, the table can be tilted in a vertical plane by 
providing a swivel arrangement at the knee? 

(a) q_Ptct4:t ��/Universal milling machine
(b) ���I Plain milling machine
(c) 3111-/f.'lcttfo � / Omniversal milling machine
(d) ��� I Hand milling machine

58. ��m•1 !.l'i:11a-1 �& cfi1<\1¼:s �m� �lj,(jfrj �� 't/ffi 0.25 %<m
'cficlB � JfT'c/T fc!?trr li@T % m '3 q ,{-ct,'( ctr � "ITT1ft ·
In a single point turning operation with a cemented carbide and steel combination having a

Taylor exponent of 0.25, if the cutting speed is halved, then tool life will become

(a) half (b) two times (c) eight times (d) sixteen times

59. --�ctt�ctt��%
...... ; .......... is not a method ofcasting cleaning 

(a) '<!Tc �/Shot blasting
( c) c:<\lRl• !/Tumbling

(b) "ti- &f!R/Sand blasting 
( d) �/ Acid blasting

60. ���cRiI'3ff�cRiI'3ff<m'3cCJ1c:..-1 ffi�� � !-J1arn11��-­
GCP �:l.!.ll:JcRl � \ilT � %
Blow molding process to produce objects such as bottles & floatable objects can be applied
to only

(a) ?.Im �I LcllRcfi,{-{ /Thermo setting plastics
(b) � LcllR<P,{-{ /Thermoplastics
(c) 8fi:Jqc::g LcliR<P,{-{ / Laminated plastics
(d) ��.-Jl.f>l·S-s LcllR<Pt{ / Reinforced plastics

Page 12 of14 



Question Booklet Series • A 

Rough work page 

ZlfcTrcf-,� 

Page 13 of14 




